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PART -A
Answer all questions : (5%4=20 Marks)

1. Discuss the different types of operating systems.

2. Discuss time-sharing and real time operating systems. Give an examples for
each.

3. Discuss the various methods of interprocess communication.

4. Compare logical and physical address space. How is the logical address reloc,atgﬁ of fEL
to physical address ? S AW

5. What are the necessary conditions for a deadlock to occur ?

PART-B
Answer any one question fromeach Module. (4x arks)
Module —|
6. a) Draw the architecture of an operating system and explain the function of each
part.
b) Explain all attribulte's and all operations performed on a file.
OR

7. a) Explain sequential and direct access of files.

b) Explain the Tree structured directory structure with a diagram. What are its

advantages ?
P.T.O.
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Module -1l
8. a) Explain the critical section problem. What are the requirements to solve the
problem ?

b) Explainthe FCFS and SJF scheduling algorithms. Make a comparison of the
two.

OR

9. Consider the following set of processes :

Arrival Time | Next Burst =
Process Priority
(ms) (ms)
- PO 0 24 4
P1 3 7 i
P2 5 6 2
P3 10 10 1

Time slice for RR =4 ms
" For the FCFS, SJF, Priority based Non-preemptive and RR algorithms :
a) Draw Gantt charts.
b) Calculate average turn around time.
c) Calculate average waiting time.

Module -1l

10. a) Explain the memory management scheme called ‘paging’. Draw the paging
hardware.

b) Explain what you mean by internal and external fragmentation.
' OR

11. Consider the following page reference string :
1,2,3.4.21,562 1,287,683 21,3 .38

How many page faults will occur for the following page replacement algorithms ?
Assume a set of three page frames. (Initially all empty)

a) FIFO
b) LRU
c) Optimal.
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Module -1V

12. Consider the following snapshot of a system.

Process Allocation Max Available

A B CDIABCDIABZCD

P1 O T2l 112121100
P2 21010|10(2|7|51|0
P3 0/]0|3(4(6|6|5|6
P4 213|5/4|4|3]56]|6
P5 F]|3 | 2100615 |2

i) Compute NEED matrix.
i) Is the system in safe state ? Justify answer.

iv) Canarequest (0, 1, 0, 0) from P3 be safely granted immediately ? Justify the \\/\. €
answer. e

OR

13. a) How s a deadlock avoided using Resource Allocation Graph ?
b) What are the different ways of implementing ‘access matrix’ ?




